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I. ??????? ??????? ???

??????? ?????????? ??? \

??????? ?-1. ??????????? ??????? ????
'

? ?????? ? ???????? ??????? ?????

? ?????? ?? ????? ??????? ????? ????????? ???? ?. ??????-
?????????? ??????? ???? ????? (??? ?????? ??????? ? ?????????? ????

?????????????? ???), ? ????? ?????? ?? ???? ?? ???????? ?????-

???????? ????????? ?????. ??? ???????? ?? ?????????. ?????????? ???-

?????????????? ??????? ????????? ??? ??????? ???? ????? ??????????
???????? ??????????????.

??????????? ?? ?????????? ????????? ?????? ? ????????,

?????????? ??????? ???? ????? ????? ? ????????????? ????????.

????? ???? ? ??????????? ??? ??????? ?????? ?????????
?? ???. 1-3.

?????? ?????????? ???????. ????: ????? ????? (???. 4, ?);
? = 11 ??, ? = 30°. ????? ??????? RA, RB ? ?????? ? ????????.

???????. 1. ??????????? ??????? ????. ?????????? ???????

????, ??????????? ? ?????: ?????????? ???? ? ? ??????? ????

R~a ? Rb- ??? ??? ????? ? ??????????, ?? ????? ???????? ??????? RA
????????: ??? ?????????? ?? ??? ??????? AD. ????? ????????

??????? /?? ??????????, ???????? ??????? ? ?????????? ????

?????????????? ??? (???. 4, ?).

??? ???? ?, Ra ? Rfi ??????? ????????????????, ?????????????,

????? ?? ???????? ???????????? ? ????? ?????.



??????? ????? ??????????? ????? ???????? ??? ? ? RA. ?????

???????? ??????? Rn ???????? ????? ??? ????? (????? ?) ? ?????
??????? ?. ?????? ????????? ??????? ??????????? (???. 4, ?). ???

?????????? ???????? ? ???? ?. ????? ?????? ??????? ? ????????

??????, ???????????? ????? ???????? ????? ???????, ???????? ??,
? ????? ????? —??????, ???????????? ????? ???????? Rn ?? ??

????????? ???????????.

??????? ??????????? ??????????
???????? ???????????? ??????????

?????? ? ??????????? ??????? ????-

??????? RA ? RB. ?? ??????? ????????

???????????? ? ???????????? ABC

??????? RA ? Rti

?????? ??-?, ???????:

? ? = ??? = ?? tg ? = ?? J/3/3 = ?

?????????????,

??????

RA ?-. ? |/3 = 11 ?? = 19,05 ??;

RB--2P = 2 11=22 ??. ??? 4

2. ??????????? ?????? ? ???????? ?????. ????? ??????? ???,

??????? ????? ???? ????????? ? ???? ?????, ?? ?????? ?? ????

????????? ??????? ?????????? ? ??? ???????? ??? ??????? ?????

??????? ? ????????.

????????????? ?????????? ???, ??????????? ? ??????? ????

?????, ??????? ???? ? ????? ??????????????????, ????? ?????

??????????? ??? ? ???? ?? ????????? ????

??????? ????????????, ??? ??? ??????? ?????????, ?. ?. ???????

???????? ?????????? ?? ????? (???. 5). ????????????? ????? ??????-

????????? ??????? ??????????, ??? ??????????????? ??????? ?? ?????????,
? ?????, ?. ?. ??????? ???? ???????? ?????????? ? ?????

??????? ??????? ??????? ????????? 5 ? 5', ?????? 5 = — S'.

?????? ???????? ? ???? ?.

???????? ??? ????????? ?????????? ???, ??????????? ? ?????

????:

-S1-S2cob60° = 0,



??????
11 -2

= —12,7 ??;
cos 30' Y 3

Sl = — Si cos 60° = —

(— 12,7) 0,5 = 6,35 ??.

???????? S., ?????????? ?????????????, S, — ?????????????.

?????????????, ???????? / ????????, ? ???????? 2 ????.

??? ???????? ??????? ?????? ? ???????? ??????????? ??? ?,

St ? S2, ????????, ??? ??????????? S2 ? ???? ???????????? ??????

???? ?????????????? ??????-

??????????? Si ?? ???. 5, ??? ???

???????? 2 ???? (???. 6). 5,
??????????? ??? ??????-

?????????? ?????????, ?. ?. ???????

SL ? S2 ?????????? ???????-
?????????. ??????? ?????? ????????

???. 5 ???. 6

????? ?????????? ??????????. ????????? ?????????????? ???, ???-
??????????? ? ??????? ?? ????? ?????, ???????? ?? ???. 6.

???? ?:

?????????? ? ??? ????????? 5^ = 52 = — 12,7 ??, ????????:

S'i = — S:, cos 30° = —

(— 12,7) ?3/2 = 11 ??;

56 = S't cos 60° = — 12,7 • 0,5 = — 6,35 ??.

10



???? ?:

SXf = O; 53 + 55cos30° = 0;

??? = ?; Si-St- Sb cos 60° = 0,
??????

Sb = — 53/cos 30° = — 11,0/0,866 = — 12,7 ??,

S, = Si - 55 cos 60° = 6,35 - (— 12,7) 0,5 = 12,7 ??.

???? L:

S X, = 0; - S; - Si cos 30° = 0;

2?,- = 0; Sl + Sicos60°-S10 = 0,

??????

S; = — S~ cos 30° = — (— 12,7) 0,866 = 11,0 ??;

S10 = SI + SJcos60o = -6,35-12,7-0,5 = -12,7 ??.

???? D:

2X; = 0; S,+ S9 cos 30° = 0;

??????

S9 = — S7/cos 30° = — 11,0/0,866 = — 12,7 ??;

S8 - 51 -S, cos 60° -12,7 -(-12,7) -0,5 =19,05 ??.

????? ???????, ??????? ???? ???????? ????? ??????????.

???????, ??? ??????? ???? ??????????????? ????? ????? ????-
??????????, ???????? ????????? ?????????? ???, ??????????? ? ?????
? ? ? (???. 7). ? ?

???. 7

???? ?:

???? 5:

???. 8

= S',= 19,05 ??.

?



????? ????????? ??? ?????????, ????????:

#„-22 ??, P = arctg 1,73 = 60°.

????????^'???????? ??????? RA ? /??, ?????????? ????? ?????-

?????????, ?????????.

????????? ?????????????? ???, ??????????? ? ??????? ?????

?????, ???????? ?? ???. 6.

3. ??????????? ??????? ?????? ? ???????? ????? ? ???????-
?????????? ????? ????? ? ??????????????? ????????????? ???? ??????.
?? ??????????? ??????? ?????????? ??????? ?????? ? ????????

????? (????. 1).
??????? 1

????? ???????

???? ??????

?????? (??)
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????? ????? ? ??????????????? ????????????? ?????? ? ?????-
???????? ???????? ?? ???. 8.

??????? ???????????

????????????? ???
^

'

??????? ?-2. ??????????? ??????? ????

???????? ????
'

????? ??????? ???? ???????????. ????? ??????????? ????????-

???????????? ?? ???. 9—11 (??????? —? ?), ???????? ??????? ? ????. 2.

????? ? ???-
???? ???????

(pi.c. 9-II)
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